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Floma BTV e | B2 | ame | oo e | B | o [T e | B2 T | B | M
; 100kN/mZ#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~ - - -
Zhst 1.00) 0.00 ~ 549 68.50 | #nLst | 000 ~ 0.00| 1.66 889 Zhst 100|500 ~ 610 68.50 | Tnist | 500 ~ 6.10| 1.66 889
2 100kN/mZ#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~
Zhst 1.00 ) 0.00 ~ 559 69.80 | #hst | 000 ~ 559|187 10.00 Zhst 1.00)5.00 ~ 640 69.80 | Thist | 500 ~ 640 1.87 10.00
3 100kN/mZ#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% %% - -~ - -|3mEHERS -~
Zhst 1.00) 000 ~ 565 70.59 | #hst | 000 ~ 565|184 9.83 Zhst 1.00)5.00 ~ 640 70.69 | TS | 500 ~ 6.40 | 1.84 9.83
4 100kN/mZ#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~
Zhst 1.00) 000 ~ 507 63.13 | #hst | 0o0 ~ 000|171 915 Zhst 100|500 ~ 540 63.13 | Thist | 500 ~ 540 1.71 915
5 100kN/m%#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~
Zhst 1.00 | 000 ~ 462 57.60 | #Fnst | 000 ~ 462|221 11.83 Zhst 100|500 ~ 698 57.60 | st | 500 ~ 698|221 11.83
P 100kN/mZ#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~
Zhst 1.00) 000 ~ 561 70.10 | #host | 0oo ~ 561|195 10.44 Zhst 1.00)5.00 ~ 680 70.10 | Fhist | 500 ~ 6.80 | 1.95 10.44
- 100kN/mZ#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% %% - -~ - -|3mEHERS -~
Zhst 100|000 ~ 624 78.35 | #hst | 000 ~ 000|166 887 Zhst 100|500 ~ 740 78.35 | #nLS | 500 ~ 7.40 | 1.66 887
g 100kN/mZ#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~
Zhst 1.00 ) 0.00 ~ 659 83.06 | #hst | 0oo ~ 000|160 8566 Zhst 100|500 ~ 850 83.06 | Thist | 500 ~ 850 | 1.60 8.56
9 100kN/m%#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~ - - -
Zhst 1.00) 000 ~ 695 8807 | #hst 000 ~ 695|177 9.46 Zhst 100|500 ~ 860 88.07 | #nhist | 500 ~ 860|177 9.46
0 100kN/mZ#82 % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% %% - -~ - -|3mEHERS -~
Zhst 1.00) 000 ~ 467 5818 | #nList | 000 ~ o000) 1.62 8.66 Zhist 1.00 500 ~ 5.00 5818 | #nLlst | 500 ~ 500 1.62 8.66
100kN/mZ#82 % ~ ImEBZ D ~ 100kN/MZEHEZ 5 ~ ImEBRD ~
Zhst ~ Zhllst ~ Zhst ~ Zhllst ~
100kN/m%#8% % ~ ImEBZD ~ 100kN/MZEHEZ 5 ~ ImEBRD ~
Zhst ~ Zhllst ~ Zhst ~ Zhllst ~
100kN/mZ#8% % ~ ImEBZD ~ 100kN/MZEHEZ 5 ~ ImEBRD ~
Zhst ~ Zhllst ~ Zhst ~ Zhllst ~
100kN/m%#82 % ~ ImEBZ D ~ 100kN/MZEHEZ 5 ~ ImEBRD ~
Zhst ~ Zhllst ~ Zhst ~ Zhllst ~
100kN/mZ#82 % ~ ImEEZ S ~ 100kN/MZEHEZ 5 ~ ImEBRD ~
Zh s ~ Znist ~ Zh s ~ Zhn st ~
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